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6/ Solving Sequence
~_\/ 10 5’115)276?4?10?7?971?8?3ﬁ>01,62,67
A knot diagra ° ! 0 ¥ 0 H s °

Ideals for irreducible component#ﬂ)f Xpar

=W — w4 b+ 1w =20 -t a+ 3, w0 — 207 4 Bu— 1)
IV =041, v*4+a—u+3, ud—u?+2u—1)

* 2 irreducible components of dim¢ = 0, with total 63 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
I = (uS"—uS+.- 4+ b+1, v —2u®®+..-+a+3, u®®—2u+...+3u—1)

(i) Arc colorings

—u®? + 20”8 -+ —3
1
ag = u2
—ud +2uP® . 4 2u —3
ag = \ —P7 4 %0 + 3ud — 1

ag =

w? +4u” + 5u® + 2ud +u )

ag = \u!l +5u +8u” +3u® —ud +u
7u59+2u58+'~7u272
a3: _u57+u56_’_ "+u_1
—uP? + 207 4~ -2
az = 7u57+u56+“.+u71
(ii) Obstruction class = —1

(iii) Cusp Shapes = u*? — 2058 + ... + 8u — 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy w — 4+ du—1
Ca u® + 320 + -+ du+ 1
c3,Ct ub P 4 4 du 48
Cs5,Cg, C10 w0 -2+ 4 3u—1
c8 w9 — 2100 4 ... — 1040u + 64
9 w0 4205 4o 3u—1
ci1 u® — 14u™ + - — 1087u + 131




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

C1,C4 y60—32y59+--~—4y—|—1
C2 Y% — 4y 4 - 32y + 1

3, C7 y%0 —219%% + ... — 1040y + 64

C5, C6, C10 YO0 45450 o — Ty 1

c8 y%0 4+ 31¢°% + ... — 118016y + 4096
Co ¥ — 2450 4 Ty 41
11 y% + 10y + - + 159609y + 17161




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

uw = —0.272258 + 1.0125401
a= 193515+ 0.627741
b= 1.147190 — 0.4787631

—2.04150 + 6.754191

—6.05975 — 7.037611

uw = —0.272258 — 1.0125401
1.93515 — 0.627741
b= 1.147190 + 0.4787631

—2.04150 — 6.754191

—6.05975 + 7.037611

u = —0.156290 + 1.0520307
a= 0.095451 + 0.2963461
b= 0.098316 + 0.6880371

0.89236 + 2.410541

—2.85789 — 3.505831

uw = —0.156290 — 1.0520301
= 0.095451 — 0.2963461
0.098316 — 0.6880371

0.89236 — 2.410541

—2.85789 + 3.505831

0.102597 + 0.9260221
—1.92726 + 0.841891
= —1.169680 — 0.3702141

—2.71127 — 1.297491

—7.32877 + 0.879491

0.102597 — 0.9260221
—1.92726 — 0.841891
= —1.169680 + 0.3702141

—2.71127 4+ 1.297491

—7.32877 — 0.879491

0.362204 + 0.7396801
1.398890 + 0.0423521
1.157070 — 0.5289811

—1.51448 + 6.916711

—4.99151 — 4.331521

0.362204 — 0.7396801
1.398890 — 0.0423521
1.157070 + 0.5289811

—1.51448 — 6.916711

—4.99151 + 4.331521

0.739190 + 0.2734491
2.83377 —1.124711
1.183660 + 0.5486181

—3.14550 — 10.935601

—7.60991 + 8.987611

0.739190 — 0.2734491
= 2833774 1.124711
= 1.183660 — 0.5486181

—3.14550 4 10.935601

—7.60991 — 8.987611




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.705650 + 0.2749491
= —0.556763 — 0.9436201
0.216325 — 0.8334181

—0.27172 — 5.847791

—4.34743 + 6.061101

0.705650 — 0.2749491
= —0.556763 + 0.9436201
0.216325 + 0.8334181

—0.27172 + 5.847791

—4.34743 — 6.061101

—0.739469 + 0.1571171
2.42529 + 0.980161
1.123680 + 0.4358231

—4.64706 — 2.943321

—9.69548 + 3.110091

—0.739469 — 0.1571171
2.42529 — 0.980161
1.123680 — 0.4358231

—4.64706 + 2.943321

—9.69548 — 3.110091

—0.701322 + 0.2433591
= —2.80040 — 1.591661
—1.129360 + 0.4625691

—4.44900 + 4.802721

—9.563100 — 5.343751

—0.701322 — 0.2433591
—2.80040 + 1.591661
—1.129360 — 0.4625691

—4.44900 — 4.802721

—9.53100 + 5.343751

0.691544 + 0.2188301
—2.61676 + 0.967031
—1.228960 + 0.3142771

—4.78959 — 2.109581

—9.89618 + 4.410051

0.691544 — 0.2188301
—2.61676 — 0.967031
—1.228960 — 0.3142771

—4.78959 + 2.109581

—9.89618 — 4.410051

—0.150600 + 0.7049621
—1.51108 4 0.720611
—1.130100 — 0.3838161

—2.66735 — 1.263951

—6.69853 + 0.155591

= —0.150600 — 0.7049621
= —1.51108 — 0.720611
= —1.130100 + 0.3838161

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—2.66735 + 1.263951

—6.69853 — 0.155591




Solutions to I V—1(vol ++/=1CS) Cusp shape
= —0.245563 + 1.2622907
= 1.207160 4 0.4772681 2.15190 + 3.309851 0
= 0.712663 — 0.1737531
= —0.245563 — 1.2622907

1.207160 — 0.4772681 2.15190 — 3.309851 0

0.712663 + 0.1737537

0.313312 + 0.6341271
0.406095 + 0.0335281
0.231815 + 0.7432231

1.19086 + 2.116501

—1.10142 — 0.945041

0.313312 — 0.6341271
0.406095 — 0.0335281
0.231815 — 0.7432231

1.19086 — 2.116507

—1.10142 + 0.945041

0.593362 + 0.3759961
1.44574 — 0.939561
0.826187 + 0.6230511

3.02257 — 4.244501

—1.33904 + 7.250111

0.593362 — 0.3759961
1.44574 + 0.939561
0.826187 — 0.6230511

3.02257 + 4.244501

—1.33904 — 7.250111

—0.651026 4 0.1787171
0.833384 — 0.6533341
—0.075209 — 0.5645221

—1.64038 + 0.764311

—6.82050 — 1.173341

—0.651026 — 0.1787171
0.833384 + 0.6533341
—0.075209 + 0.5645221

—1.64038 — 0.764311

—6.82050 + 1.173341

0.514134 + 0.4336461
0.120502 — 0.3193901
0.725195 — 0.6261301

3.31167 + 0.607471

0.058994 + 0.3588351

0.514134 — 0.4336461
0.120502 + 0.3193901
0.725195 + 0.6261301

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

3.31167 — 0.607471

0.058994 — 0.3588351




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.667151
a= 187106
b= 10.617384

—1.74355

—3.65290

u=0.146423 4 1.3569201
a = —1.11641 + 0.873411
b= —1.211750 — 0.1224881

2.27680 — 1.865061

u=0.146423 — 1.3569201
a=—1.11641 — 0.873411
b= —1.211750 4 0.1224881

2.27680 + 1.865061

u = —0.298418 + 1.3473501
a= 0.950662 + 0.8837611
b= 1.102840 + 0.4011601

0.089664 + 0.8058131

u = —0.298418 — 1.3473501
a= 0.950662 — 0.8837611
b= 1.102840 — 0.4011607

0.089664 — 0.8058131

u = —0.112811 + 1.3807601
a= 0.088761 + 1.3679801
b= —0.973157 — 0.4420871

3.11222 — 0.329481

u = —0.112811 — 1.3807601
a= 0.088761 — 1.3679801
b= —0.973157 + 0.4420871

3.11222 4 0.329481

u = —0.181790 + 1.3800901
a= 0.51009 — 1.346811
b= —0.578631 + 0.4493631

4.27304 + 3.480791

u = —0.181790 — 1.3800901
a= 0.51009 + 1.346811
b= —0.578631 — 0.4493631

4.27304 — 3.480791

u = —0.252426 + 1.3754401
a= 1.054820 4+ 0.1125721
b= —0.213723 — 0.5985251

3.31453 + 4.036851




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.252426 — 1.3754401
1.054820 — 0.1125721
—0.213723 4 0.5985251

3.31453 — 4.036851

0.272964 + 1.3860801
= —1.045560 + 0.896556.1
—1.260740 4 0.2937251

0.31494 — 5.612001

0.272964 — 1.3860801
= —1.045560 — 0.8965561
—1.260740 — 0.2937251

0.31494 + 5.612001

—0.27784 + 1.397111
—1.46445 — 2.266871
—1.121330 + 0.4941091

0.77544 + 8.362207

—0.27784 — 1.397111
—1.46445 + 2.266871
—1.121330 — 0.4941091

0.77544 — 8.362201

0.11177 + 1.423521
0.003244 — 0.7241141
0.361594 + 0.7826281

7.44712 4-0.694731

0.11177 — 1.423521
0.003244 + 0.7241141
0.361594 — 0.7826281

7.44712 — 0.694731

0.27859 + 1.411281
—0.929433 — 0.0275261
0.233048 — 0.8705441

5.10898 — 9.430231

0.27859 — 1.411281
—0.929433 4 0.0275261
0.233048 + 0.8705441

5.10898 +-9.430231

0.07750 + 1.438101
0.274235 + 0.8471021
1.113070 — 0.5713561

>~ & S| @ €|l @ 8> @ €| @ 8|l 9@ €8> © 8| @ 8|l & 8|l o &

5.22134 4 5.764961




Solutions to I V—1(vol + v/—1CS) Cusp shape
u = 0.07750 — 1.438101
a= 0.274235 — 0.8471021 5.22134 — 5.764961 0
b= 1.113070 4+ 0.5713561
u=0.29362 + 1.413491
a= 1.61836 — 1.906671 2.2343 — 14.68541 0
b= 1.192200 + 0.5650157
u= 0.29362 — 1.413491
a= 1.61836 + 1.906671 2.2343 + 14.68541 0
b= 1.192200 — 0.5650157
uw=0.19005 + 1.432681
a = —0.563532 + 0.4326361 9.23623 — 1.962311 0
b= 0.708476 — 0.7122961
uw=0.19005 — 1.432681
a = —0.563532 — 0.4326361 9.23623 + 1.962311 0
b= 0.708476 + 0.7122967
u= 0.22072 4 1.431841
a= 0.55993 — 1.542601 8.80345 — 7.216311 0
b= 0.857884 + 0.6789097
u = 0.22072 — 1.431841
a= 0.55993 + 1.542601 8.80345 + 7.216311 0

b= 0.857884 — 0.6789091

u = —0.434286 + 0.2365241
a= 0.227567 — 1.3793601
b= —0.654919 + 0.2468911

—0.85637 4 1.131071

—6.00125 — 6.014441

u = —0.434286 — 0.2365241
a= 0.227567 + 1.3793601
b= —0.654919 — 0.2468911

—0.85637 — 1.131071

—6.00125 + 6.014441

u= 0.388108
a = —3.78596
b= —-1.10470

—2.19031

0.722320
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IL I =(b+1, u*+a—u+3, u>—u?+2u—1)

(i) Arc colorings

ag =

ag —

az =

—u? 4+ u—2
az = —1

(ii) Obstruction class =1

(iii) Cusp Shapes = —5u? + 4u — 16

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u—1)3
3
C2,Cy4 (u + 1)
3
€3,C7,C8 U
Cs, Cg wWeul4+2u—1
Cg,C11 w—u?+1
3 2
C10 u’ +u+2u+1

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C2,C4 (y_l)
€3,C7,C8 y’
3 2
C5,Cg, C10 Yy +3y +2y_1
€9, C11 -y +2y—1

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + v/=1CS)

Cusp shape

u =

b = —1.00000

0.215080 + 1.3071401
a = —1.122560 + 0.7448621

1.37919 — 2.828121

—6.82789 +2.417171

uw=0.215080 — 1.3071401
a = —1.122560 — 0.7448621

1.37919 + 2.828121

—6.82789 — 2.417171

b = —1.00000

u=0.569840

a = —2.75488 —2.75839 —15.3440
b = —1.00000

14



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 ((u = 1)) (@ — 465 + - + du— 1)
C2 (u+1)%)(u® 4320 4 - +4u + 1)
€3, 07 w? (U0 + U 4 du + 8)
Cq (w4 1)) (@ — 465 + - + du— 1)
5, Co (u —u? +2u — 1) (u — 20 + .- +3u—1)
C8 u?(u0 — 210 4 -+ — 1040u + 64)
€9 (u® —u? + 1) (u + 20 + -+ 3u—1)
10 (u +u? +2u + 1) (u® — 20 -+ 3u—1)
c11 (u® —u? +1)(u® — 146 + - - — 1087u + 131)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1,¢4 (y— 1) (% - 32y + - —dy + 1)
€2 (=) * — 4> +--- =32y + 1)

¢, 7 v (y%0 — 219% + .- — 1040y + 64)

s, Co, C10 (v + 3% + 2y — 1) (% + 549 + - =Ty + 1)

c8 y? (y% + 31y° + .- — 118016y + 4096)
€ W - +2y - 1" =29+ =Ty + 1)
c11 (y° —y? + 2y — 1)(y°%° + 10y + - - - 4+ 159609y + 17161)
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